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(1) #BEUNE
OEARBEERE ( 7, 346, 605 ) 5,945, 582 1,401,023 )
IBEIERMEN - DIREEE 7, 346, 605 5,945, 582 1,401, 023
QZmE+& ( 13, 389, 483 ) 14, 349, 329 A 959, 846 )
SZWMEHE 502, 080 757, 064 A 254,984
BEIERRBAED S DIREEE 12, 887, 403 13,592, 265 A 704, 862
QHEUA ( 674,977 ) 712, 415 A 37,438 )
MUTA 674,977 712, 415 A 37,438
BEEUNEE 21,411,065 21,007, 326 403, 739
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OExZ ( 13, 804, 945 ) 13,000, 624 804, 321 )
THBIRRE 10, 737, 000 10, 003, 000 734, 000
Hm & 2,524,760 2,402,914 121, 846
EAELEE 135, 030 183, 905 A 48,875
X R 400, 000 400, 000 0
THFECH 8,155 10, 805 A 2,650
QErE ( 3,962,920 ) 4,423,702 A 460,782 )
% B RN 1,238, 438 1,651,612 A 413,174
Hm & 1,082, 039 1,029, 719 52,320
EERHE 9,532 8,202 1,330
EAELEE 57,870 78, 817 A 20,947
XEE 46, 332 65, 286 A 18,954
BIEERE 264, 164 232, 848 31, 316
HELE 16, 791 7,359 9,432
THFECH 435,510 439, 239 A 3,729
=g 360, 000 360, 000 0
Fz TR/ 0 1,550 A 1,550
X EREM 66, 000 25, 300 40, 700
HE 386, 244 523,710 A 137,526
REER 17,767, 865 17,424, 326 343, 539
LR EIBEAE 3,643, 200 3, 583, 000 60, 200
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LR E I EEEE 0 0 0
5| A B — AR IE R BA EE BRI AE 3,643,200 3, 583, 000 60, 200
EABL. ERBRUEBER 3,643, 200 3, 583, 000 60, 200
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2. ZWMAE - BiLYyE 7, 346, 605 5, 945, 582 1,401, 023
3. EExXftE 13, 544, 433 13, 544, 433 0
4. BEHMIISTME 1, 554, 000 A 15,080, 971 16, 634, 971
5. —HRIEKBIE~DIREEE A 20,234,008 A 19,537, 847 A 696, 161
L HAYE TF IE R BA EE IR RAE 2,211,030 84,871,197 A 82,660, 167
IEEEKRM EHEERS 887, 872,929 803, 001, 732 84,871,197
IEEERB ERRES 890, 083, 959 887, 872,929 2,211,030
I IEREAEEIRES 890, 083, 959 887,872,929 2,211,030




